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PART—A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parta labelled fa), ()
and rn,I."R-.':ad each sentence to find out whether there is any error in any underlined part and indicate
your response in the Answer Bheet against the corresponding letter, i.e., falor [ or fo). If you find ne

error, your responge should be indicated as fd),

1. He appears 1o beée & honest man, Mo emor

fa) (b) fc) id)

Minmister waz an atheist. No error
fed}

&
2. One of the members  expressed doub ;
fal e \

3. This view has bei

as written on this subject.
fcl

fix)
Na error
fel)
4. Slow and steady opwns the race, as the wise would say. No error
fai) b} ic) fc)

5. We often hear people gay  that most human tl:in_gn have not evolved
a iy}

or grow up enough to stick to truth or non-violence. No error
fel {d]

YPL-L-AVJ/60A




SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word fallowed
by four words or groups of worda, Belect the word or group of words that iz nearest in meaning
io the underlined word and mark vour response in vour Answer Sheet accordingly,

6. The Industrial Revolution saw a massive B. This boy is very timid.
rise in the population of Europe.

fa) courageous

fer]  Enormous bl shy
fe) clever
{b} emoneous é

fe} hazsrdous

fd) peclous

7. | had some despest convicti

in my worlk.
(d} corpulent
) ideas and opinions 10. Hiz  behaviour was  deliberately
(b firm belicfs fa) exciting desire
) infuriating
fr)  prejudices
fe)] pitable
fd] biases fd} creating frustration

YPL-U-AV.]/60A 3 | P T.0.




ANTONYMS

Mrections ; Each item in this section consists of 8 sentence with an underlined word followed
bv four words or groups of words. Select the word or group of words that is opposite ln meaning
to the underlined word and mark your mesponse in vour Answer Sheet accordinghy.

11. Too many cooks spoil the broth. 13. Tt is easy to be an orthodox
fal idolatrous
fa tarmish
fb)  Antelligent
Fy ppe—— fel  malignant

fdl heterodox

fe)  embellish

i upsei

12. He Ia biased against |

citins.

fdl persuade
lal open

15. Mone but the brave deserves the far,

(5 poeioe fa] ugly person

{bl coward
fel  liked

foj jealous persori

Y PL-L=-AV.] f 6OA @




COMPREHENSION

Directions 1 Inn this section, you have two short passages, After cach passage, you will find some
iemns based on the passage. First, read a passage and answer the items based on it and mark vour
response on the Answer Sheet accordingly, You are required 1o select your answers based on the
conlents of the passage and opinion of the author only.

“Now, iadies and gentlemen,” said the conjuror, *having shown you that the cloth is absolutely empty,
I will proceed to lake from it a bowl of goldfish, Presto!”

All around the hall people were sayving, “0Oh; how wonderful | How does he do it?"

But the Quick Man on the fronl seat said in a big whisper to the people near him,
“He-had-it-up-his-sleeve,”

N .
Then the people nodded brightly at the Quick ﬁ‘éaui, “Oh, of course™ and evervbody
whispered round the hall, “He-had-it-up-his-sleeve.” =" "

H'M}r next trick,” said the conjurer, “is the |‘ T z.r:_._, , ndos II' 41 :;|'|._1 will notice that the ri‘n,ga are
apparently separate; at a blowgt i1l Jt : S , ; 1.

There was a general
YHe-must-have-had-s

Again everybody nodded and w

heard o whisper,

The brow of the conjuror was o

i am :nahlﬂd o take any
h ia ha.t? Ah, thank vou—FPresto |"

“1 will now," he continwed, “sh L
number of eggs from a hat, Will ;

He extracted seventeen eggs, and fd e Seconds the audience began to think that he was
wanderiul. Then the Quick Man whi g the front bench, “He-has-a-hen-up-his-sleeve,” and
all the people whispered it on. "He-has-a-lot-ofl-hens-up-his-sleeve.”

The ege trick was ruined.

It went an like that all through. It transpired from the whispers of the Quick Man that the conjuror
must have concealed up his sleeve, in addition to the rings, hens, and fsh, several packs of cards, a
loaf of bread, a doll's cradle, & live guinca pig, a fifty-cent piece, and a rocking chair,

16. “The brow of the conjurer was clouded with a pathering frown.” The sentence means that
the conjuror

fa) was very pleased (b} was very sad

fe} was rather angry fd] was very afraid

YPL-U-AVJ/60A ] | BTG,




17. "The egg trick was ruined.” This means 19, The author believes that the Quick Man

that was really
fa) eggs were all broken (@) fochiak
(b people were uneonvinced
Tl clever
fe conjuror was disappointed
fd) the trick could niot be performed ) verong
fel} right
18. According to the Quick Man, the
Gonjuror
, 20, The conjuror extrected seventeen epgs
faj had  everything bought :
production Q - from the hat of
b} produced things with Ly ~ the Quick Man
he knew e
fe) had th - 1 8™
hia coa

Magda _

Mrs. Smiles : Yes, it ls, is A you today? All right? You haven't been studying too hard,
have vou? You look a bit pale.

Magda ¢ | don't, do 1? Well, I haven’t been out much lately. | don’t like this weather & bil

Why, we haven{ had a dry day for weeks; have we?

Mrs. Bmiles No, | don't think we have, Let's see, you'll be going back home next menth,
won't you?

Magda - ©h no, I'm not going back yet. My sister’s coming over first
Mrs. Smiles ©  Oh, is she? You're looking forward to that, | expect: How long is it since vou saw her?
Magda ¢ Hearly & vear now. Yes, | am looking forward to it very much.

Mrs. Smiles : She's coming aver here to study?

YPL-U-AV.]/60A (]




Magda : Yes, that's right. T shan't go back home untl she's setiled down, | don't think 1
ought to, cught I?

Mrs, Smiles © Well, no, she's younger than you are, is she?

Magda © Yes, she's only cighteen.
21. Magda had not beenn out much lately 23. Mrs, Smiles says, “You're looking forward

because to that” This means, Magda was

her sister's arrival.
fa) she had not been keeping well fa) expecting with pleasure
S <éf'bj preparing hard for
ib) =she was busy with her studies L
\ greatly about

fe) the weather ha@ Deen THlp ' with joy

{d}  her sister had co

‘ |'p Mrs. Smiles
22. Magda was not going bac sme ' _
because : fej =ettle down in England

fd} pursue her studies

fal it had been raining heavily
25. Mrs, Smiles and Magda are

b} her sister was coming over fa] classmates
b school Hends
fe) her studies were not completed

fe} neighbours

jd} she was not feelmg well [} sisters-in-law

YPL-LU-AV.J/60A 7 [ BT.O




FILL IN THE BLANKS

Directions : Each of the following sentences in this section has a blank space and four wards or
groups of words given after the sentence, Select whichever word or group of words yvou consider
most appropriate for the blank space and indicale your response on the Answer Sheet accordingly.

26.

27.

28.

29.

a0.

We fail 1o undersiand your reasons 31. They apologized me Tor what
far the college without completing happened.
the degres,
fa) o b} at
fa) attending {b) joining
. fet for fe) with
fe}  leaving [el)  relusing

. If you are tired of swimming, just
Sho her energy and atarte for a while.
shouting only when she heard the noi \ _
of bulldozers and cranes. | struggle (bj  stroke
fd) streak

fa checked \%\

spoken for two minutes
. WHS @ comimation in  he

The British
collapsed in the first B
century. () hardly
jal  hegemony by fd) little
fe}  residence () 1
34. | would not commit myself that
course of Action.
The loothall match 1
because of the weather, fa) of fb) to
jal called off flal  continued fel by fd] with
(g} put off i) turmed off
35. The saldiers waiting o go into battle for
If 1 were rich, a lot. e S YO e e
fa) T travel fal apprehension
) | can travel b} consideration
fef 1 would travel ol  anticipation
fe) 1 travelled fd) Trivality

YPL-U-AV.]/60A 8




IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response [a), (bl {o) or (d] which is the most sppropriate meaning and mark vour
response on the Answer Sheet accordingly.

36. A red-letter day 29, To be in a fix

fa) a trivial day
fa} to recelve strong criticism
(] & very impartant or significant day

fe) @ day of blondshed and violenoe & ) é fbj te support oneself
@&\
‘?3

fd] a mourning day

37. The gift of the

fa] ability o
confidently

fl) abality to spoil

fel ability to sell things 40. To fish in troubled waters

fd) gift from a sacred institution
fa) to bhorrow money

38. Walk a tightrope

fa) to be forced to leave your jobr fb] to steal belongings of
b} to be ready to fall
fol  to get benefit in bad situation

fel  to act very carefully

id] to invite danger fd} to extend a helping hand

YPL-U-AV.)/60A 9 | PT.0,
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ORDERING OF SENTENCES

Drections : Each of the following items in this section consists of a sentence the parts of which have
been jumbled. These parts have been labelled P, Q, R and 5. Given below each sentence are four
sequences namely fa), (b, j¢j and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response on the Answer Sheet accordingly,

41. Domestic fires 1n Indian villages 43. Newton discovered that
P. as the heat is dispersed P. due to the gravitational pull
Q. an unhealthy smoke accumulates Q. of the earth
i unventilated houses R. the apple falls
R,  are wasteful 5. on the ground
S, lit in Chulhas % é The correct sequence should be
The correct sequence Bhau]dﬁhe *\ QPRS by RSPQ
fa) PQSR " fd] SORP
i) PQRS
SPOR 1l in the house
fel . i
dl SRPQ = echoes of it

432, Bold rocks near at b The correct sequence should be

P, makes .
imagination ; . fa} SRPQ fb) SQRP
0. than distant Alps fe} PQSR fdl RSPO
R. are more inspiring
S. and the thick fern upon a heath 45. The history of mankind is
P. and steady progress
The correct sequence should be T
faj QRSP R. the history of .
S. from barbariam to refinement
o The corréct sequence should be
i B fa} PQRS fb) RQPS
fd} SRQF fe) QSPR (d) SQRP

¥PL-U-AV.I/60A 10
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CLOZE COMPREHENSION

Directions : In the following passage there are some blank spaces with four words or groups of
wordas given, Select whichever word or group of words you consider most appropriate for
the blank space and indicate vour response on the Answer Sheel accordingly.

The honeybee is a very unusual kind of insect. ___ 46. ja] Unlike other insscts which live
B} Similar to
fe) With
fed) Like

alone, the honeybee lives as ajfan 47. fal _ of & community, These bees live

together in what is knowW asE - ' ) - atad of the bees is called the

quéen bee, She is a9, {uiest’ than the 7est of the bees, MHer main task

b} heavier
(c) largest
fel} larger
isto ____ 50. ja) lay ERES.
{b) hatch
fc) make
(d) hear

YPL~U-AV.) [ 6DA 11 | P.T.O.
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PART—B

Dirgctions :

The following six (6) items consist of two
statements, Statement 1 and Statement I1,
Examine these two statements carefully and
select the correet answer using the code given
belaw.

Code :

faj Both the statements are
individuaily true and Statement [1
iz the cormect explanation of

Statement 1 &

5

are ]
individually true but Emte@tﬂ\
is mot the corre

Statement 1 : ma— :

(6] Both  the  statements

fc}  Statement 1 12

(d] Statement | is falsc

51. Statement T :
The pitch of the sound
upon its frequency.

Statement I1 °

The Joudness of the sound wave
depends upon its amplitode,

52. Statement 1 :

Sound wave cannoi
VaCUum.

propagate in
Siatement 1 :

Sound waves are elastic waves and
tequire a medium o propagate,

YPL-U-AV) f6OA 13

B3. Statement | :

The Government of India Act, 1935
introduced Dyarchy at the Centre:

Statement 11

The provincial autonomy was granted
to the Provinces.

B4. Statement | ;

Mughal Painting reached its climax
- during the reign of Jabangir,

ek Court was adorned hy
the best Known artists of the

lor produce most ol the
carbon in the oosan.
Statement 11 ¢

Algae are produced in the cold water
biome.

66. Statement T :
Oeostrophic wind blows above a height
of 600 metres, paralle] to the isobars.
Statement [I :

Geostrophic wind is the horizontal
wind veloelty, in which the Coriolis
force balances the horizontal pressure
force.,

[ PT.O.
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fa) i fa) 286 u
(b} B b} 106 u
o) s () fcl B3 u
f) TG fdf 53u
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57. Which one of the f[ollowing groups of 62, The atomic number of an element is 8,
cellular organelles contains DMNAP How many electrons will it gain to form
(a) Mitechondria, nucleus, chloroplast a compound with sodium?
(b} Mitochondria,  Golgi  bodies, fa) One
nucleas rbl' Two
fef Nitochondria, plasma membrane,
nucleus & Thres
fd] Chloroplast, nucleus, ribosomes (d) Four
58. One of the additional fnctions of 63. A sample of oxygen conlains two isotopes
Smooth Endoplasmic Reticulum (SER) of oxygen with masses 16 u and 18 u
is respectivelv. The proportion of these
i ' isotopes in the sample i3 3 : 1. What will
rot th
OLE ’ iy _mu be the average atomic mass of oxygen
fbj Tlipid synthesis this sample?
fiel
fel)

starage of biomolecules *
detoxification of toxic aubém\

length of the plant
colour of the
colour of the lea
taste of the frufs

60. Which of the follow

has/ have only uniceliular

o) Monera only

fb) Protista only

fc} Monera and Protista both 65. What is the formula mass of anhydrous
" sodinum carbonate? (Given that the

), Tvoies a8 Tang ik atomic measses of sodium, carbon

and oxygen are 23 u, 12 u and 16 u
61. Which one of the following is & ctively]

waterborne disease? L i

fa}  Jaundice fici i

fb) Tuberculosis b} 106 u

fel Rabies fel B3 u

fd} Arthritis {dl 53 u

YPL-U-AV.]/60A 15 | P.T.O.
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66. FfeiEn 7 8 B Taahs' we am k7
fa) Cis)+HyOlg)
b COl)+H,Dlg)
fol Cig)+ Halz)
td] NOsig)+H;(g)

67, TR T 51 Wi e A B
faj 20 Hz 8 w5
b 20 He 3R 2 kHz & #ig
fo] 2 kHz 37 20 kHz & 9=
fd) 20 kHz # wfaw

68. [Edl am-gnigs m % a5 o

Tl 1 FE w0 o R W wy § uft gd
Ar @ 1 co, T\ A wew Rw wm & owe
SH A T W FE § Co, mEl g
i o /2R F A T PR Pl
# & - W I 67 (21 M s
e 1 TR =R w8

fal P'=F
fby F'=2pP
@ P=Pf2
dl P= P

YPL-LI-AV.J/60A
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70. AT nm % ¥ FefErEn 2 8 - deE
il

fa)
b
fick
fed)

1nm=10"1 A
1 nm=10A
1nmeld
1 om=1024A

71. LED %1 f &q

fia
(i

& -
\ il

ol S

T M T

wTge e faa
T FT-an s
#gE SR BEE

giey & Awg & foem @ Twlw wE = o)
FeAEA AT J # - R

fal
(o)
ie)
(e

A-2-1-4
2-1-4-3
1-4-3-2
4-3-2-1
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66, Which one of the [ollowing is called
‘syngas?

faj Csi+HOR)
(&) COlg)+HyQlk)
fef COlg)+Hylg)
fdl NOyiel+Hyle)

67. The frequency of ultrasound waves is
fal less than 20 Hz
(b) between 20 Hz and 2 kHz
fc) between 2 kHz and 20 kHz
fd] greater than 20 kHz

68. The magnetic field strength of a current-

wire

B L

(b

fe) depends upon the
the surroundings |

MNone of the above/

69, A stainlezs steel chamber contai
gt a temperature T and ik ol
The total number of Ar apdms. ‘
chamber is n. Now Ar gas in the
chamber is replaced by CO, gas and
the total number of CO5; molecules
in the chamber ia8 n /2 ot the same
temperature T. The pressure in the
chamber now is P, Which one of the
following relations holds true? (Both

the gases behave as ideal gases
fa) P*=P
b P'=2P
e} P=Pj2
d) P'=Pf4

YPL-U-AV.J/60A

s

X

carrying wire at a particular dis e
from the axis of the wine &
jaj depends upon e En

N\

T

T0. Which one ol the following i=s the correct
relation between A and nm?

faj 1 nm=10"'A

b} 1 nm=10A

fef 1 om=1A

fd} 1 nm=10"2A

Tl. The full form of LED i=
fal Light Emitting Diode
{b) Light Emitting Device
fe} Light Enhancing Device

éﬁ) Light Enhancing Diode

clectron moves through a
difference of 1 kV, then the

73. Consider the following places of India !

1. ltanagar
2. TImphai
3. Agartala
4. Aizawl

Which one of the following is the correct
chronological order of the above places
in terms of sunrise time?

fa} 3-2-1-4
B} 2-1-4-3
fe) 1-4-3-2
fdf 4321

| BT
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T4. Which one of the following is known as
uplands of delta region?

fa) Bel
b} Bils
fc] Peh
fdl Chars

T5. Consider the following  Wildlife
Sanctuaries of India :

1., Bhikari Dewi
2, Bhadra

3, Simlipal

4. Pachmarhi

Which one of the following
order of the above

in terme of their
north?

o} 1-2-3-4
b 2-4-3-1
fe} 2-3-4-1
fd) 3-1-2-4

76. Which one of the [pllowing statements
about temperature is correct?

faj Temperature decreases with height
in the stratpsphere.

B Temperature is constant at different
heights in the siratosphere.

fe) ‘Temperature increases with height
in the roposphere at an average
rate of 653 °C per kilometre.

fd} Temperature decreases with height
in the troposphere at an average
rate of 64 °C per Kilometre.

YPL-U-AV.] f60A
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77. Which one of the following is known as a

gone of sharp salinity change in the
vertical section of ocean?

fal Thermocline

fb) Halocline

e} Photic zone

fd] Pyenocline

T8. Permanent hardness of waler cannot be

removed by which one of the following
methods?

fa) Treatment with washing soda
fl Calgon's method

 Afe) Boiling

e of the [ollowing reactions will
oxide) gas as one of the

BEEHNO, (dilute)-s
f 05 [conc.)—+

: a 10, [dilute)-s
BICES B .]—i'

Hvdrochlaric acid
(b Witrie acid

jc) Sulphuric acid
{d] Phosphoric acid

Bl. Which one of the following statements is

not correct?

faj All carbons in diamond are linked
by carbon-carbon single bond.

(b Graphite is layered structure in
which layers are held together by
weak van der Waals forces.

fo] Graphite layers are formed by
hexagonal rings of carbon atoms.

fd) Qraphite layers are held together
by carbon-carbon single bond.

| BT.O.
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lef §EEH A 88. Fremtwa givyw w faem fif -
id) fae |

//

B4, MQWMWWTW??
fa) =T AR
i) art Frem

fa) = e
(b} T ETgiTaEs
fej SR
fel] T
86. s Al Wk 3 WA qfoy Fsfiies 4 A o 5%
T g Forferm #n B2
fa) FHF—Fam AREEE A g 89. TH Y= ANA 0 HEA B oC wEw d ww
T T T—OTe] T e Trefafem & & wem 17
b fi—aed AT —s i
B ; fa) 0°C
fe}  mEt—eES R — b} =100 "C
AT el
0 o R P : fc) 27315 °C
— T wiE T fd) —173-15°C
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82. Which ane of the fcllowing is called

dry ice?

fet) Solid carbon diexide
b}l Liguid carbon dioxide
e Ligquid nitrogen

fel)

Ligquid ammonia

B3, The acidic semidigesied food coming out

of the stomach is neutralized by
fa] pancreatic juice

iy} duodenal secretion

ol large tnlestine secretion
fcd) bile juice

B4. The oxygenated blood from the

received by the
fa) left auricle
b left ventricle
fe) right auricle
fd) right ventricle

BE. The oxvgen evolved

synthesis comes from
fo} water
) carbon dioxide

fe] axypen
jd) light

B86. Which one of the following depicts the

correct oircuit of a reflex arc?

fal Effector—sensory neuron—spinal
cord—motor neuron—receptor

fbl  Receptor—sensory neuron—aspinal
eord—motor neuron—elfectar

{c) Receptor—sensory neuron—
brain—maotor neuron—eflector

fdl EBensory neuron—receptor—brain—
effector—motor neuron

YPL-U-AV.J f60A

87. If one set of chromosomes for a given
plant is represented as N, in case of
double fertilization, the 2zvgole and
the endosperm nucleus of a diploid
plant would have how many sets of
chromosomes respectively?

fa} N and2N
b} 2N and 2N
fe) N and 3N
id) 2N and 3N

B8. Consider the following circuit :

following is the
he Tesistance between points
circuit given abowve?

4K

fd)

89, The absolute =zero temperature s

0 Kelvin. In °C unit, which one of the
ollowing is the  absolute  zero
temperature?

fa) 0°C
(b
fel
fel

=100 *C
-27315 "C
=173-15°C

| BT.0.
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90, %78 wEw, UV wem @ X-few § e oa

1. 7= ww W e, x-fEei oF
eE A FeE B

2, X-fFm & vl i osad, oy oewm %
w2 it F= | safiEs gl R

3. UV T F wEE R oS, e
# w1 % @ wn A

Tl el B @ W-/E o 3

f@l 1,23m3

b FE 1R 2

fa T

fby QT

fe} 4T

d T/2

YPL-U-AV.J/60A 22

92, g 7, S9-aE (T 7)) T FE-AE
(#n #iet) R fongn awenl & warel b §
dia fafim avi—ems, w0 ol wen & fi
frm-iftm o & 9 @ 8 Frfofes 2 @
WA W WE a0 e R

(a) Tro—fgEE aw, w—RmtE o,
e an

(b) TE—ETEETE AW, S A,
TR AW

3% o Al & T Ry, R, 3 R, 2,
a1 fafafigs & @ #¥=-a1 w7 &7

fa) B> Ra>Ry
B) Rj<Ry<Ry
e} Ry<Ry<Ry

lrﬂ.-.' Ea}Hg}E’
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00. Consider the following statements about
visible light, UV light and X-raya :

1. The wavelength of visible light is
more than that of X-rays.

2, The energy of X-ray photons is

93. The

appliances like
heater or room heater contams three
insulated copper wires of three different
colours—red, green and black. Which
one of the lollowing is the correct colour

of electrical
electric  iron, waler

connecting  cable

higher than that of UV light code?
v fa} Red—live wire, Green—neatral
3. The energy of UV light photons is wire, Black-—ground wire
lesa than that of wvisibie light
photons. i e &) Red—neutral wire, Green—ground

Which of the statements given above
isfare correct?

fe)

fa) 1,3 and 3

fb) 1 and 2 only ._

fo 2 and 3 o

fd} 1 only

91. The time peériod of oac
pendulum having leng
the bob m is given as T.
fhe pendulum is increasgd i
the mass of the bob is ingreas am,
then which one of the following is the
new time period of oscillation?

wire, Black—live wire

Red—live wire, Green—ground
wire, Black—neutral wire

Red—ground wire, Green—live

wire, Black—netitral wire

5 bebtween current (f) and
for three Lnear resistors
are given below :

if By, By and Ry are the resistances of
these resistors, then which one of the

following is correct?

@ T
(a}
() ar
by
fc) 4T -
el T2 fed)
YPL-U-AV]/60A 23

Fy> Ry = Ry
By=Ry=29y

R:].'-"H: }Rl

| BT.0.
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94. wh [EAEE T wR grevls & fwm @ 96. wHfi-1 F FH- k ww gEfen Efa o

Freifeiam st @ faam Sifm - qiEi & F= forom g2 W o = @ T
1. gl & dw o s, @6 @ P
IRE FH R R -1 -1
2 g & e f e o, W () i) ()
ek 1 e 2 @ sl AR ; sl 1, :;m
3. gt W wmEd, W afieEs @ clmi iﬁ;;
T WG F o T 4.
4. wEEE W s, TR afigwms 6
s afl ® a5 = Ty g B bl s
e 8 -3 v A B =0
fa) F=e 1 3 3 é E:
T
IS c D
4 3
el 2, 334
¥ i Fbm s
fety 1,233 F2 W W o I
weft-11
95, UF UR T E=EH M, T (=)
T AR 7 e A g, 1. gEm
e R o ®, T T e 2. w8
ﬁwﬁﬂvﬁaﬁmﬂ!’laﬂfh@ﬁmﬁr c. = 3, =M
TR T TEET T fEefafa § @ e D. F= 4, Fait
7Y G
& & s v R
bl 24, HE § e
) g f2 = ? HH E 113
(e} @ /4 ‘w;. g :: ?
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84, Consider the following statements about 96. Match List-] with List-11 and select the

a microscope and a telescope | correct answer using the code given
low the Lists ;
1. Both the eyvepiece and the objective i
of @ microscope are donvex lenses, Lizi=] List=1I1
2, The focal length of the abjective of a Hiueer Basiing [y
telescope is larger than the focal A. Bhagirathi 1. Lansdowne
length of its evepiece. B, Alaknanda 2. MNarendra Nagar
3. The magnification of a telescope C. Nayar 3. Uttarkashi
increases with the mecrease in focal 0. G o P
length of its objective. nigs r
4. The magnification of a microscape Code :
increases with the increase in focal faj A
length of its abjective. 3

correcl?

fal 1 and 3 onl

o ] == ) o= 3 B3
g wwg RO

(b} 1 and 4
st with List-1I and select the

i 2ty T using the code given

fd) 1, 2 and 3
Lzl
{Flace]

95, A planet has a mass M 1. Budan

The value of accelera

on its surface is g,. B. Black Roller 2. France

planet 2, whose mass and radius both . DBise 3, Japan

are two times that of the firat planet. D. Haboab 4. North America

Which one of the following 15 the
acceleration due to gravity on the Code -
surface ol planet 27

A B € D

1 4 2 3

1 & A& B £ B
m 2g, 1 A & A
o W B e D

fel gy /2 2 4 g 3]
A B & B

fd) o f4 3 2 4 1

¥PL-U-AV.] /60A a5 | BT.O.
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og, ## dm 'melt’ Frafidem o & & R 101, 3T W g F oww gfem B s

e 27 i & 9 e g2 W o = e
e ;
fa) SHAT
eI weft-11
o) (e v (Feafd)
§ A, TR 1. =w-53 &4
fel ™
B. s 2, Zew wdwm il
fd) R C. FamEmeas 3. @ & e @
D, e 4. AEEE FEN W

99, FANME 2011 F FFgAW, FHeieieEn ¥ ® T = ‘é‘”

ﬂmmﬂmaﬁlqﬁ:mzﬂ\\ A B € B
g 87 ) 4 o
@-‘k\

A=
fa) fTgE :?
e
e D
fe) T 4
D
felj AR a

100. fu=fafan 0 @ fee e % o § waa ade i 102. Frefafim 4 & Sm-m s (s

m #iit 37 = AR A7

fra). TS T A fa) 37

() U fb) e

fc) At 79 fe) e

(d) T aff e (d) T ()

YPL-U-AV.) J60A 26




27

98. Majuli’, the river island, is located in
which one ol the following rivers?

faj Jamuna
b} Padma
fc} Ganga

{d) Brahmaputra

. Which one of the following Indian H!atm:

has recorded negative growth n\

population as per Census 201

fa) Manipur
fo}  Mizoram
(e} Tripura
fd) TNagaland
100. Which one of the following types of

cloud is characterized by continuous
precipitation?

fa} Cirrocumulus
bl Cumulus
fe)  Nimboatratus

fd) Cumulonimbus

YPL-U-AVJfG0A a7

101. Match List-] with List-Il and select the
correct answer using the code given
below the Lists ;

List=| List-IT
{Major Port) {Location)
A, HKolkata 1. Landlocked arca
B, Mormugao 2. In the delta region

C. Visakhepatnam 3. On the riverside
D. Paradip 4. Omn the entrance of

the estuary

[
S

@ o

102. Which one of the following is mot an
agent of metamorphism?

fa
(B

)
fe)

Heat
Compression
Decomposition

Selution

| B0
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103. Fwfafas # @ s s & pH, 7 8 59 106. Fofefinn 8 & Sm-m faam = el g

Ll #7
fu) NaOQH faf CaS0,-2H,0
fla} KCI bl Ca,8i0,
2Cas0, H,0
6 HeClg fi +H
(] Caso,
() NaCl
& 1075w & Fn & ot # Rl e
= FaFF-m w87
104, F=ioian § # f@- on snees sk

2 X

fal NaQH+ HCI

} s & & agw @l §, @
A ST 8 fifn de
iR R
fo) 2ZMg+ 0, —3MgO
: o1 oo fopm @ e B ol o
{d) Na,S0,+BaCl,~ B # =7 T w8
) TR 9 s g owm oaslt W F wEe
sl g o s A w2
105. == * =1 § facfifem 2 2 &0 o= off

Fer =en 87
1 _ 108, X-Tmi =1 winted fem &1 = @ 27
fa) ST AL
faj 1A
(b) IS WEEER |
(b 1 pm
o fef 1 mm
idj srmiE weke fdl 1 cm

YPL-LI-AV.] f60A 28
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103. The solution of which one of the following 1068, Which one of the I[bllowing is the
will have pH lesa than 77 chemical formula of gypsum?
Casc, -2H,0
fa) NaOH W a0 0l
fb) Ca,S50,
b KCl
fe) 2CaS0, H,0
fe)  FeCly (dj Cas0,
fd) NaCl
107. Which one of the following statements
& about the law of conservation of mass is
%{T correct?
104. Which one of the i \an .
addation-reduction reaction? ~Aap A given compound always contains
T — : |y same  proportion of
faj NaOFH+ H =/

gases combinge in a reaction,
do 80 in & simple ratio by
jded all pases are al

, “Matier can neither be created nor

fd] Na,50,; + BaCl, — Bad50

fd] Equal volumes of all gases at same
temperature and pressure contain
equal number of molecules.

105. Which one of the following is not used as

fertilumery
108. The wavelength of X-rays i of the

fa) Ammonium mnitrate Ofelns B

fa) 1A
fl  Ammoniam sulphide

(B} 1 pm
fe) Ammonium phosphate 1
jdl  Ammonium sulphate fdl 1 cm

YPL-U-AV.J/60A 29 | PO,
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109. Fr=itEa = ol wwn & o o famn i

o 4
{m s
g ]
HE
4

i

»

i
H
8 L

Ia

8s @ 125w shem sm w oy Peafafes

4 4 wr-m R7

fia)

B m/a?

fbj

12 ]:|:|,|"ﬂ":I

(e

2 mja’

-1 m/s?

fd}

@&*@EH

111. Frenfra st @ =9y wgen, o T = I
farm wiEren | U A HHEE WA SEETd
EL W W ovm ww R R oam owmem #
BT 100 em S g0 4 8 0 0w S

e

HYEE G AT % T T S 6w e
o Fasfefan © 8 #a-m 27

&
~ lg = 1000 cm /57)

r——.

B ‘q?

() #=sin"!({1/100)

110. =% wF 99 TR F SR T S0 em ¥, A
Tkl i () Frfafian @ & 29— 27 112, Tait =l = def wew o 1 6% 107" K7
B oW omd F oImE W s W e
fa) +2 e Facfefian & 4 Fm-m B
fa) 0-8xi0°K!
B +002 TRATZ
) 2:4%10°5 K1
B =N fel 32%10°5 K-
(d) +0°5 ERETER () 4.-8x107° K~
YPL-U-AVJ / 60A 30
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109. Consider the following velocity and time
graph

(/8]

P e
T-'H

=3
12 1% Time (s)

[ o -

4

Which one of the following is the value
of average acceleration from 8 & to 12 s7

fa) & m/s*
(b) 12 m/s?
fo) 2mps*
fd) -1 m/e?
110. If the foral length of e

50 cm, whh:hmmufthuihﬂﬂwhlﬂiuitn
POoWEr?

fa} +2 dioptre
(b} +0-02 dioptre
(c) -0'5 dioptre

fd} +0-5 dioptre

YPL-LI-AV.J/60A 31

111. A ball is releaged from rest and rolls
down an inclined plane, as shown in the
following figure, requinng 4= o cover a
distance of 100 om along the plane !

e

Which one of the following is the correct
value of angle 8 that the plane makes
with the horizontal? {g = 1000 cm/s?)

2} B =ain!(1/9:8)

112. The coeflicient of areal expansion of a
material is 16x10°% K, Which one

of the following gives the walue of
coefficient of volume expansion of this
material?

fal 0-8x105 K1
(b) 2.4%10°% K
fe) 3.ax107® k!

fd) 4:-8x10° K1

| P.T.O.




32

113, & ATl % AR 0, Fo o, g AR 116. -1 ® el % omw g fifie s

s g @ welt § wem & dn e wftrit # 1S fiw g w2 % wdm sl I
ﬁﬁmvztl:lﬂ' n:}rhﬂﬂ'ﬁl'ﬁﬁlil' !ﬁﬂ{:

Ffers waat & F wE-a1 ad 27

fa) wy ¥ vy T 15 0 R l.’i'“?:ﬂ? ‘w'n}

(b} g WA w15 TR

fe) vy AR uy & wE R A SRS 5 .
@) vy WA vy 3R B. gimyg ma 2. TnEy
C. TH 7y 3. e
114, Fefafm 8 @ - deeey b gz @ e 4. g
ferurrere (gean) wEn O BF W
) TR s £ T
fb) ATEH TS 3}*\ W & BB W
Pl & D
— - 2
D
i
]
2
A 1
B. 2.
C. AT 3. o 117, SFWF] 2011 % 300, S-30 ST
D, g wEEY 4. BWk ANy & wndm oed w oW sl A
A& B e D
E & ‘& & o TR —a g —ImTeE
m A B €© D
X Ak ey I ) Frn—airp e —e
B A B & D
W e S Y e} HErTER—sfng— o —fn
A B & D
Bl % i () T —arE— g —
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113. The refractive indices of two media are

denoted by n; and ny, and the velocities
of light in these two medig are
respectively o and vy If ng /g is 145,
which one of the following statements is
correct?

fal 1y t6 15 times 4.

{b) w; iz 1-5 tumes ;.

fg] v 18 e=qual to vy,

fd} v 1s 3 times vy,

114. Which one of the fellowing greenhouse

115.

(Koppen's Climatic Type) |
Tropical wet
Mid-latitude degert

=+

Mediterranean

Humid eontinental

gases 15 in largest concentration in the
atmosphere?

fa)  Chlorofluarscarbon
fbl Mitrous oxide

fe] Carbon dioxide
(d} Methane g

Mateh List—] with

caorrect answer .-
below the Lists :

List—T

Cade :
fra)

flar

el

a2 Wl ~— J = D
A MED ND Ao
By B0 a0 K
-0 =g wp wQ

YPL-U-AVJ /60A

116. Match List-1 with List-II and select the

correct answer using the code given
below the Lists :

List—{ List-II
(Rathweay Zonel (Headguariers|
Wesl Central 1, Jabalpur
South East Central 2, Gorakhpur
East Central 3. Bilaspur
North Eastern 4. Hajipur

c D
4 1

C D
4a 2
c D
: 1

c Ly
4 2

117. Which one of the following is the correct

descending order of Indian Stafies in
terma of sex mto as per Census 20117

fa} Mizoram—Manipur—
Tripura—Meghalaya

Bl Tripura—Manipur—
Meghalaya—>Mixoram

fe] Meghalaya—Manipur—
Mizoram—Tripura

{d} Manipur—Meghalaya—
Tripura—Mizoram

[P.T.0,
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118, Fraforfian @ @ fem waw w @2y (e

TR ) WY W SEME T e B
fa) fidifen

(b W=

fel

fd) =T AR

119. Bl 8 8 S- oefs sy 6w

wishT i A7

afl BY

la) FEH R g T AR

i) W % W T R e gidtea w\
TR, T ke own-mown
&

(e aftffass smonf, se wn owde =
e B

{d) T W S 200 cm FE 8)

YPL-U-AV.J /G0A

a4

121, W I afm & wed ow ose ol g R
Freaferfina wat § & #v-a o B7

fa} = =T off FE wiatea =T

(b) w9 = o A A =g R, @ it
g W H e R

fc) =W F A @R A Rl W ol @
70, fAfEE I A At 7 A

(d) T® T W wE g & el g oo
W R, W WilamE W oaER ae w
MRE W TS A R

S T wEl (piA) # e v Wl ow
me-gEel O i ww 1 B gEel W
TR W o g 01 Fmen B ol
At @ Fhow @ owu oaw
ﬂﬁsﬁtiﬂmm

i Freferfes & 4 &9 g

123. WA & HEuw & s Feietan @ 8 SR
v A () wfimn T 27

fa) TEM = i
(b) T ] HUFR
fe)  Amifisma & it
) T % Fana wam




118. Steppe (temperate continental) climate is

not experienced in which one of the

following places?

fea)

ik

fe)

id}

&
119. Which one of the following is mot a-
process of chemical weathering?

2 -
| \“‘bfﬁt\\

fex)
L
el

]

120. Which one of the foll
correct for a plane mirror?

e

(b}

fe)

fed)

Pretoria

Saskatchewan

Perth

Buenoz Aires

Solutian

Its focal length i3 zero.

The size of the image of an object
placed in front of the mirror is
slightly less than that of the object.

The image is virtual, erect and
laterally imverted.

It focal length is 200 cm.

YPL-U-AV.]/60A as

121. An object is placed in front of a convex

mirror. Which one of the Mbllowing
statements is correct?

faj Tt will never form an inverted image.

b} The image moves towards the focus
when the object moves towards the
mirror,

fe} Depending on the position of the
object with respect to the mirror,
the image can be inverted and real.

id] The skke= of the image becomes
larger than that of the object when
the object is placed al a distance
equal to half the focal length.

“-mircular coil of radius R having
of turns carries a steady
A, The magnetic induction at
€ of the coil is 0-1 tesla. If the

goghalved, which one of the
¥ill be the correct value for

0-05 tesla
b 02 tesla
(0o tesla
(d) O8 tesla

123. Which one among the following is not

a Fundamental Right under the
Constitution of India?

fa) Right to equality

(b} Right to freedom

fc) Right to citizenship

fd] Right against exploitation

| PT.0.
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124, ffefys 4 @ st v s wma ¥ 127. wwiw F 13 wiEwl 4 4 o @4 fw o
gitiieTEt g wnd T W7 uffAfe @ foem & @ twe wioe @
it 4 s wa gf off7
il i g
fa) 1763
fh) FIEI B 1764
fe] W el 1765
fel) el fd) 1766
128. = oifyE] 8 # ¥ 3=t 8w o Faoe aged
125, =fam wia & s A % ot 3 Freefafe st & Rrerm ren ) I o o7
FoA1 W T Fifa PR
. woyErd aieee Ao gem. dee § et
| *
2. 13 s WS IEET
e Wi
I weH § A
fa) aEE |
b w2
fei 1 32 EmE
fd) @1, 7382 fe) TRt

() R

126. T=fatfian o6l # 8 F9-m w= a9 gfem 87
T 130. Fem wwhm smm fafefie 4 @ e oom

Wi in i P VT AR S ——
@ TR s _
. fa) TR afnfy
Gt B d (b e v
ﬁ:'.i I"“ﬂa £ m r‘r_.; m@ﬂﬁh’
fd) ; R fe) ritmen wiEta
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124, Which one of the following crops was
mtroduced by the Portuguese in India?

feaf
fb)
fel
fed

COpinm
Coffes
Betel leaf
Chili

125. Consider the following statements about
merchant guilds of South India :

1. Ayyavole merchant guild was
originally established in Aihole.

2. Manigraman merchant glﬂ.h:l
anhnrdmtml tn ﬂ'H:- Amj
merchant
centumy.

Which of the s
isfaroc correct?

fal 1 ornly
fba] 2 only
fel Both | and 2

fd] MNeither 1 nor 2

126. Which one of the
correctly matehed?

following pairs is

Bhektt Saint Philosophy
fa) Shankara Avadhula
(5) Ramananda : Kevaladvaita
fe) Ramanuja Vishishtadvaita
jdl  Chaitanya Advaita
YPL-U-AV.J/60A aT

m\*

127. When did the Stamp Act Congress
consisting of delegates from 9 of
the 13 coloniez of America meet In
New York City?

fa) 1763
fb) 1764
(el
(e

1765
1766

128. Who among the following travellers
was from Italy and visited Vijayanagar
Kingdom m the fifteenth century?

Nikitin

Fa-Hien

,.—V ‘1

i Bthe French East India
frai) establish its factory
(b Surat
fc) Pondicherry
fdl Masulipatnam

130. The Central Vigilance Commission was
established on the recommendation of
which one of the fbllowing Committess?

fa)
ib)
i)
(d)

Santhanam Committee
Dinesh Goswaml Committes
Tarkunde Committee
Narasimham Committee

| BT.O.
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131, -1 # g=h-n & ww ogafee i e 134, g9 B o moan 4 afa detm ol

gt & 93 fmom 52 W= ow oAl e srafim B
T ;
fa) Fhmr
- . it
(v ) (g ) (b)
A aATME TR 1 BaeEmam e fc) T
Searar v
B. =R A 2. fe= = @
C. wEe T 3. 7 fiwwatt s glEw
D. wEmeETE dER 4. gfaeT dE e-fain 135, s 2018 # wim 3 ggm # W w5 R
& ¥ g s (Fm) wwE 9iEEE g a6
= woym 3 et angEm W e e S
: - it | s afyfge afeire
@) A B ©€© D = é
X % 7 1 fa) Twr-sfim wftwm oftstesn (30 -amEw
i} 4 B € D
. L - irz v (3w u da TRAE)
fad A B D
A
jd] A B
¥ B
182, i (FIFA) wed %, 26 8. et A G7 1 wew b1
TR T ¥ )
(b} T I
) @
fel)  afteeRn (d} =R
133. waifn TR de el (00 89 13y, @ dwsi 9 PR el i R A e
fasfauem sedy, 2008 & gEN) w Frm?
T TE A A P Su——
faj AT
by g ol g
fe) A fe)  ATe T Tewr
fd) wiEm =me fdy o o FuErE
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131, Match List-] with List-I1 and select the 134, Bentosa isBland, which was In nDews
cotrect answer using the code given recently, is located in
below the Lists :
f@) Singapore
List—] List-IT
P (Bosk) () China
A. Bal Gangadhar 1. The Arctic Home fF, v
Tilak i the Vedas {d) Sri Lanka
B. Dadabhai Naoroji 2. Hind Swaraf
. . 135. Indig, in June 2018, asserted that any
E 3. '
C. Mahatma Gandhi The Discovery af i il B ¥ vt
soversignty and territorial integrity of
D. Jawaharlal Nehru 4, Poverty and . ;, the countries, The project referred to
Un-British Rule in < é above is

India

(@} MNorth-South Corridor Project

fal
b
el
()

o
132. Which one of the fo i
Mageot of the FIFA Wor

ja} Fulsco : fe} Russia
fb) Zakumi
fc) Pille (d) Japan

fd] Zabivaka

133, The Headquarters of the proposed
Mational Sports University (as per

= o= W W
Mmemte@m &~ m

137. Who among the following leaders started
the Indian Home Rule League?

the National Sports  University fa) Gopal Krishna Gokhale
Drdinance, 2018} will be st up in
fa) Chhattisgarh (b} Mahatma Gandhi
b} Manipur

Bal Gangadhar Tilak
fcj Kerala o
fd] West Bengal (d) J. B. Kripalani

YPL-U-AVJ /60A a9 | Pr.O.
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138, WHA ik TEAn WWTEE 1 TR ST e
wm Tgm o = 27

fa) ey AT sfi e (e )
(b) =iEEe

(o} R 7 g

(d) iR W

139. s -upeEien fmm 6 ofr Fefefas 8 8
fom v g S gR1 SEE A FifEm
=1 7% #i7

faj TR TN ST
(b e ST
fe] TR TEmET g
fcf) verel] e

140, fi=fafias & & s9-5
wwﬁmﬁntﬁwﬁra‘lﬁ -
i #7 :

fa) #9F =E AR H ity

() @ WEE nm:"r
gl E

fe) T Ty (T ) W

o) AT I FECE o S

141. wma * dfaam & :hre 7 'aaEEE =
fefafies 4 0 B os amus wfofem &
T # sEe e

fa) 4150 wEig sifEfEm
fb)  42af FE SEs
fej 4347 Hetam srfuiTEm
fel) 4437 At sfufm

¥YPL-U-AVJ/60A

(,-_;

142, W T Imw 2 sfEa weh ok osivew &

w1 e @ e tm and
fa) wiE s

(b i Fz ==

(c) TiEEHTER Wik

(d) wrdE S

- 37 2018 # HifF (NrTY IvEm oo o i &

EI.EIHI fafafan & & &e owofln o=
mﬁmuﬁ#ﬁ’m} it

(dj HERTE

144, gEte qfvwg (A1 9= FEER) = w9

i @ v E7

fa) ¥RA % g
{b) WA F waEEf
fe) Sy TR

fd) FEm TeEEd (EEE wvm), gETm
o v
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13B. Every Judge of the Supreme Court of
India is appointed by

faj the Bupreme Court Collegium
fb) the Cabinet

fo) the President of India

fd) the Lok Sabha

139. The Nehru-Mabalanobis Strategy of
Development was implemented for the

firat time by which one ol the following
Five-Year Plans?

fii} First Five-Year Plan
bl Geecond Five-Year Plan
fe Third Five-Year Plan
felf] Seventh Five-Year Plan

140. Which one af

part of the 13

Policy as enshrined

ol Tndia? .

fa) Equal justice ar

{b Frotection of
places and object
impartance

j¢l  Protection of persops

fd) Separation of Judiciary From
Executive

141, The word ‘socialist' was inserted mto the
Preamhble to the Constilution of Tndia
through which one of the following
Amendment Acts?

fa) 415t Amendment Act
ib) 42nd Amendment Act
fe)  43rd Amendment Act
fell 44th Amendment Act

YPL-U-AVJ /60A 41

142. The place of English East India Company
gettliement in Madrae was known as

fa)
1By
fel

fel}

Fort William
Fort 5i. George
Elphinstone Circle

Marble Palace

Which one of the following Indian States
{other than Himalayan or NE States)
ranked first in the Composite Water

anagement Index as per the report

144. Who among the following 1s the ex offioo
Chairman of the North Eastern Council?

fe)
)
fel

fed)

The Preaident of [ndia
The Primes Mimster of Indis
The Union Home Minister

The LUmion Minister of State

(lndependent Charge), Ministry of
Development of WNorth Eastern
Region

| BT
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145, faw e e (avd =52 20 2), 2018 148. WA & ®ENH F wigees 353 § femm gafin
Ty Fsfirfias § 4 a- 87 T9ay §7

fa) T w8 W HT SEa R

fa) Tt s
fh) Tt shn & fom ==t wffem) o #@fsm
e affm fb) =i 8wl = i e
fef T difem) and Afw ) m-aw S fo) wfEw= F owe o # oweEw afewn
qae e

() ofraa w=m & T s =T

fd) TR HIEE

145, mﬁmmﬁmmﬂmmm;m
ﬂcﬂﬂ#ﬁlﬂm%mmaﬁwﬁﬁ

F4 Sl unA 'R f uw ohm
#ﬂﬂﬁﬂﬁﬁﬁﬁrﬂﬂiﬂ

r wfe =whe

147, To Fedwm wEw, TR A6 i g, 150. ffts =2 o & =t & Fefofas st § @

2018 (Fegh T ) B e f -0 e b
faefoifgs & | s wads B
' fa) 9w\ W T g % e A

ja) I wEH WA
(b} A IR % T A R e )

b} PRS Faurft mia
fof e e si annfes guw SR (c) 3 T a1 TEEl e 8 T 9
fd) THER FE-ETHA () 3 iEm SmE & e G
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145. Which one of the following is the theme of

the Warld Blood Donor Day, 20187
feif  Blood connects s all

(b} Be there for someone else. Give
bhload. Share life

fol  Give blood. Give now. Give often

! Thank you for saving my life

146. ‘Seva Bhoj Yojana', a scheme of the
Government of India that seeks ta

reimburse Central share of CGST
1GST on Food/ Prasad/ Langar/Bhan
offered by religious instit
introduced recently by w
iollowing Minis

(bl The Ministry o

fe) The Ministry &f G
Food and Pubhe

{dj The Ministry of
Empowerment

147. Dr. Bindeshwar Pathak, who was

awarded Wikkei Asia Prize, 2018 for
Culture and Community, 18 the
founder of

(@) Barhpan Hachao Andolan

(b} PRS Legislative Research

{cl Sulabh Sanitation and Social
Reform Movement

(d) Smile Foundation

YPL-LU-AV.]/60A

148. Article 352 of the Constitution of India

comntainsg provisions related to

fa) fimancial emergency

) familure of constitutional machinery
in States

fc] suspension of the enforcement of
rights conferred in Fart 111 of the
Consfitution

fidl peneral emergency

150. Which one of the following statements
about Bipin Chandra Pal ie correct?

faj He was a member of the moderate
group of Congress.

(b} He was a member of the extremist
proup of Congress.

fel He was the Minister of Defence
in the first Oovernment of
independent India.

fdl He was the Chiel Minister of West
Bengal.

| BT.O,
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